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Introduction

Denombreusessituationsanalyséesenéconomiereposentsurunmodèleformaliséayantrecoursauxoutilsmathématiques.Lesmathématiquesfaci-litentletraitementd’informationscomplexesetautorisentunraisonnementrigoureux.Tantlamicroéconomiequelamacroéconomiefontappelauxtechniquesd’optimisation,l’algèbrelinéaire,l’étudedesuitesnumériques,etc.F.A.Q.Cetouvrageest-ilunmanuel?Non.Unmanuelestengénéralécritpourpermettrel’autoapprentissageetprésentelamatièredemanièreplusfouilléegrâceàdenombreuxexemplesetillustrations.Deplus,aucunthéorèmen’estdémontréici.Etl’ensembledesthèmesabordésnécessiteraitsansdouteunmanueldeplusde1000pages.Parcontre,ilyaunelonguelistedemanuelsenbibliographieoùtouteslesdémonstrationsseretrouvent.Cetouvragenecomporte-t-ilquedesdéﬁnitions?Non.S’iln’estpastoutàfaitunmanuel,ilneserésumepasnonplusàunelistededéﬁnitionsetthéorèmes.Lesconceptsprincipauxsontexpliquésetillustrésaumoyend’exemples.Cetouvrageestdoncàmi-cheminentredesimplesﬁchesetunmanuelcomplet.Est-cequetoutmonprogrammedemathématiquespourl'économieestabordé?Lesacro-saintprincipeàl’universitéestlalibertécomplètedonnéeàl’en-seignantpourconstituersonprogramme.Etc’estmieuxainsi.Eneﬀet,seulslesenseignants-chercheurssontàmêmedeconnaîtrelamatièreadéquateàcouvrir.C’estpourquoinousavonsconsultétouslesmanuelsdisponibles,lesprogrammesdecoursdesdiﬀérentesuniversitésfrançaises,belges,suissesetmêmecanadiennesaﬁndeconstituernosﬁches.Parcontre,pourleCAPESetl’agrégationd’économie,unprogrammeoﬃcielexisteetl’en-tièretéduprogramme2019demathématiquesestcouverteici.Introduction|7
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Dois-jemaîtrisertouteslesﬁchespourréussirmescoursdemaths?Ouietnon.Normalement,lesthèmesabordésicireprésententplusqueleprogrammehabituellementcouvertsurlesdeuxpremièresannéesd’uni-versité.Néanmoins,ilsepeutquevotreenseignantaitabordéunthèmequenousavonsoubliéouchoisid’oublier,carpeuabordéengénéral.Quoiqu’ilensoit,l’ouvragequevoustenezentrevosmainsvousseconderautile-mentlorsdevosétudesetdanslaréalisationdesexercicesdemandésparvosenseignants.Unconceptoublié?Uncoupd’oeildansl’indexetvousretrouverezfacilementsadéﬁnition.Jepenseavoirvuunefaute.Est-cepossible?Oui.Malgrétoutlesoinapportéaumomentdelarédactionetlorsdelarelecture,l’auteurn’estpasinfaillibleetsondoigtapuglisser.Ilenas-sumeseull’entièreresponsabilité.Envoyezunmailpourluisignaleràjean-francois.caulier@univ-paris1.fr.Ilvousenseratrèsreconnaissant!8|Introduction
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1.Fondamentaux1

C

OURS

L

es

ensembles

:

théorie

naïve

[MOTS-CLÉS:cardinal,inclusion,réunion,intersection,complémentaire,différenceensemblisteetsymétrique,produitcartésien]Lanotiond'ensembleestessentielle,carellepeutservirdepointdedépartàl'étudedetoutebranchedesmathématiques.Elleestégalementomniprésenteenécono-mie:unmarchéestunensembled'offreursetdedemandeurs,lePIB(ProduitInté-rieurBrut)estlavaleurmarchandedel'ensembledesbiensetservicesproduitsdansunpayssurunepériodedonnée,lamassemonétaireM1comprendl'ensembledespiècesetbilletsdebanqueainsiquelesdépôtsàvue…Lathéorieditenaïvedesensembles,oùlesnotionsd'ensemble,d'élémentetd'ap-partenancesontconsidéréescommeprimitives,estàdistinguerdelathéorieaxio-matiquedesensembles.DÉFINITIONVocabulaire1

Unensembleestunecollectiondéterminéed’objetsappelésélémentsquirépondàdeuxconditions:1.unélémentxappartientàunensembleE,quel’onnotex∈E,oun’appartientpasàunensembleE,quel’onnotex/∈E;2.unensembleEnepeutjamaisfairepartiedeseséléments.Leparadoxedubarbier.Cetteparabole,introduiteparlemathématicienBertrandRussela,permetdecomprendrel'impossibleexistenced'unensembledetouslesensemblespossibles.Dansunvillage,lemaireimposeauseulbarbierderasertousleshommesquineserasentpaseux-mêmes,etseulementceux-là.Lebarbierseretrouvedevantuneimpossibilité.S'ilneserasepaslui-même,lerèglementluiordonnedeseraserlui-même.S'ilseraselui-même,ilviolelerèglementpuisqu'ilnepeutraserqueleshommesquineserasentpaseux-mêmes.a.Logicienetphilosopheanglais(1872-1970).Lecardinald’unensembleﬁniE,noté#E,estlenombred’élémentsquecontientE.Unensembleestinﬁnis’ildisposed’uneinﬁnitéd’élé-ments.Ondistingueralesensemblesinﬁnisdénombrables(telsqueN)desensemblesinﬁnisnondénombrables(telsqueR).Fiche1:Lesensembles:théorienaïve|11
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Unensemblepeutsedéﬁnirsoitenextension,endressantlalistedesesélémentsentreaccoladesdansunordrearbitraire,soitencompré-hension,enspéciﬁantlapropriétécaractéristiquedesélémentsquilecomposent.L’ensemblevide,noté∅,estleseulensemblequinecontientaucunélé-ment:#∅=0.Ilestsouventutiledespéciﬁerl’ensembleréférentieloul’universdudis-cours,engénéralnotéΩouU,composédetouslesélémentspouvantserviràlaconstructiond’ensembles.RemarqueL'ensembleréférentieldépendducontexteétudié.Ilnes'agitenaucuncasdel'ensembledesensemblesimaginables.Cedernierétantexcluparlasecondecondition:untelensembledevantnécessairementsecontenirlui-même,iln'existedoncpas.RemarqueEnstatistiques,onappellepopulationl'ensembleréférentielcomprenanttouslesélémentsauxquelsserapportentlesdonnéesétudiées.Danscecontexte,lesélémentssontdesindividusouunitésstatistiques.Lorsquelapopulationprésenteunetailletropélevée,lacollected'informationsseréalisesurunepartiedelapopulation.Cesous-ensembleestappeléunéchantillon.Lesensemblesnumériquesutilisésenmathématiquesontunenotationspéciﬁque:–N={0,1,2,...}:l’ensembledesentiersnaturels;–Z={...,−2,−1,0,1,2...}:l’ensembledesentiersrelatifs;–Q={p/q|petqsontdesentiersrelatifsetq=0}:l’ensembledesnombresrationnels;–R:l’ensembledesnombresréels;–C:l’ensembledesnombrescomplexes.OndéﬁnitR∗l’ensembledesnombresréelsnonnuls,R+l’ensembledesnombresréelspositifs,R∗+l’ensembledesnombresréelsstrictementpositifs(etdefaçonsimilaireaveclesautresensemblesnumériques).12|Fiche1:Lesensembles:théorienaïve
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1.FondamentauxExemple1:L’ensembleI={1,3,5,7,9},déﬁnienextension,peutsedéﬁnirencompréhensionI={n∈N|n<10etnestimpair}ouencoreI={n∈N|n=2k+1aveck∈N;k<5}.L’ensembleIdisposede5éléments:#I=5.Relationsentreensembles2

Ils’agiticidesrelationsentantqu’opérateurspermettantlacomparaisondedeuxouplusieursensemblesentreeux.2.1L'inclusionSitoutélémentd’unensembleAappartientégalementàunensembleB,alorsl’ensembleAestunsous-ensemble(ouunepartie)deB,notéA⊆Betquiselit«AestinclusdansB».SicertainsélémentsdeBn’appartiennentpasàA,alorsAestunsous-ensemblestrictdeB,notéA⊂B.OnpeutégalementnoterB⊇Aetlire«BcontientA»,aveclesymbole«⊃»pourlaversionstricte.Exemple2:Quelquesrésultatsfondamentaux:–Quelquesoitl’ensembleU,onatoujours∅⊆U.–N⊂Z⊂Q⊂R⊂C.–SiA⊆BetB⊆A,alorsA=B.Larelationd’inclusionestantisymé-trique.2.2L'ensembledespartiesd'unensembleOndéﬁnitunensembledontlesélémentssontàleurtourdesensembles:ils’agitdessous-ensemblesd’unensembleA.L’ensembledespartiesd’unensembleﬁniAsenoteP(A).Exemple3:SoitA={1,2,3}.Alors,P(A)={∅,{1},{2},{3},{1,2},{1,3},{2,3},{1,2,3}}.Exemple4:Enprobabilités,l’ensembleΩestappeléuniversetreprésentetouslesrésultatspossiblesd’uneexpériencealéatoire.Unévènementestunsous-ensembledeΩetP(Ω)représentel’ensembledesévènementspossibles.Ainsi,sil’expérienceconsisteaulancerd’unepiècedemonnaie,ilyaura4évènementspossibles:pile,face,pileouface,nipileniface.Lesdeuxpremierssontdesévènementsélémentaires,letroisièmeestunévènementcertainetledernierestunévènementimpossible.Fiche1:Lesensembles:théorienaïve|13
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Opérationssurlesensembles3

3.1RéunionSoitdeuxensemblesAetB.Leurréunionestl’ensembledesélémentsquiappartiennentaumoinsàl’undesdeuxensembles:A∪B={x|x∈Aoux∈B}avec«ou»danslesensinclusif(c’est-à-dire«et/ou»).Laréunionsegénéra-liseàplusdedeuxensembles.SoitnensemblesA1,A2,...An.Leurréunionsenoteni=1Ai.3.2IntersectionSoitdeuxensemblesAetB.Leurintersectionestl’ensembledesélémentsquiappartiennentauxdeuxensembles:A∩B={x|x∈Aetx∈B}.Lorsquedeuxensemblesn’ontaucunélémentcommun,c’est-à-direlorsqueA∩B=∅,lesdeuxensemblessontditsdisjoints.L’intersectionpeutsedéﬁnirsurplusdedeuxensembles.SoitnensemblesA1,A2,...An.Leurintersectionsenoteni=1Ai.3.3ComplémentairePourdéﬁnirlecomplémentaired’unensembleA,ilestnécessairedeconnaî-trel’ensembleréférentiel.SoitΩleréférentieletl’ensembleA.Lecomplé-mentairedeA,notéA,estl’ensembleA={x|x/∈A}.Ils’agitdel’ensembledesélémentsduréférentielquin’appartiennentpasàA.D’autresnotationssontplusexplicitessurleréférentielutiliséetsontàprivilégierlorsquel’onsouhaiteévitertouteambiguïté:CΩAouAcΩouencorecA.3.4DiﬀérenceensemblisteSoitdeuxensemblesAetB.Leurdiﬀérenceestl’ensembledesélémentsdeAquin’appartiennentpasàB:A\B={x|x∈Aetx/∈B}=A∩B.3.5DiﬀérencesymétriqueSoitdeuxensemblesAetB.Leurdiﬀérencesymétriqueestl’ensembledesélémentsquiappartiennentexclusivementàl’undesdeuxensemblesseulement:A∆B={x|x∈A\Boux∈B\A}=(A\B)∪(B\A).14|Fiche1:Lesensembles:théorienaïve
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1.Fondamentaux3.6ProduitcartésienSoitdeuxensemblesAetBnonvides.LeproduitcartésiendeAetB,notéA×B,estl’ensembledescouplesordonnésd’élémentsdeAetd’élémentsdeB:A×B={(x,y)|x∈Aety∈B}.Onpeutgénéralisercettedéﬁnitionàplusdedeuxensembles.Soitnen-semblesA1,A2,...,An.Leproduitcartésiendecesnensemblesnonvidesestl’ensembleA1×A2×···×An={(a1,a2,...,an)|a1∈A1,a2∈A2,...,an∈An}.Cetensembleestconstituédesn-uplets(a1,a2,...,an).Danslecasparticu-lierdenensemblesidentiques,c’est-à-diresiAi=Apourtouti=1,...,n,onnoteAnceproduitcartésien.RemarqueNepasconfondren-upletsetensemblesdecardinalitén.Dansunn-uplet,lalisteestordonnéeentreparenthèses.Dansunensemble,lalistedesélémentsseréalisedansunordrearbitraireentreaccolades.Ainsi,lecouple(a1,a2)estdifférentducouple(a2,a1)(saufsia1=a2)alorsquelesensembles{a1,a2}et{a2,a1}sontégaux.Exemple5:LesespaceseuclidiensR2etRn:–L’ensembleR×R=R2descouples(x,y)dedeuxnombresréelspeutsereprésenterdansleplanmunid’unsystèmed’axesdecoordonnées«cartésiennes»(abscisseetordonnée).–L’ensembleRnestconstituédesn-uplets(x1,x2,...,xn)oùchaquexipouri=1,...,nestélémentdeR.Chaquen-upletestunvecteurdel’espaceRn.Exemple6:L’expériencedel’exemple4consisteàlancerunepiècedemonnaieetobserverlerésultat.L’ensembledesévènementsélémentairesestS={P,F},soitpile(P),soitface(F).Sil’expérienceconsisteàlancerdeuxfoislapièce,l’ensembledesévènementsélémentairesestS×S=S2={(P,P),(F,F),(P,F),(F,P)}.3.7Partitionsd'ensembleSoitSunensemblenonvide.UnecollectionA1,A2,...,Andesous-ensem-blesdeSformentunepartitiondeSsices3conditionssontremplies:1.l’ensemblevidenefaitpaspartiedelaliste:Ai=∅pouri=1,...n;Fiche1:Lesensembles:théorienaïve|15
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2.lessous-ensemblessontdisjointsdeuxàdeux:Ai∩Aj=∅pourtouti=j;3.leurunionestl’ensembleS:ni=1Ai=S.3.8DiagrammedeVenn-EulerLesdiﬀérentesopérationspeuventsereprésenterdemanièreschématiqueaumoyend’undiagrammedeVenn-Eulerpourvuquelenombred’ensem-blesreprésentésnesoitpastropimportant.Lesélémentspeuventounonapparaîtreexplicitementsurlareprésentation.A∪BA∩BΩABΩABCΩAA\BΩAΩABB\AA∆BΩABΩABFigure1.1DiagrammesdeVenn-Euler3.9PropriétésdesopérateursLesopérateurssurlesensemblesrépondentàquelquesloisetformentunsystèmealgébriqueappeléalgèbredeBoole.16|Fiche1:Lesensembles:théorienaïve
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1.FondamentauxDanscequisuit,Ωestleréférentiel,A,BetCtroisensemblesnonvides.1.Loissurlaréunionetl’intersection:–A∩A=A–A∪A=A–A∩B=B∩A–A∪B=B∪A–(A∩B)∩C=A∩(B∩C)–(A∪B)∪C=A∪(B∪C)–A∩(B∪C)=(A∩B)∪(A∩C)–A∪(B∩C)=(A∪B)∩(A∪C)–A∩∅=∅–A∪Ω=Ω–A∪∅=A–A∩Ω=A2.Loissurlescomplémentaires:–¯¯A=A–A∪¯A=Ω–A∩¯A=∅–Ω=∅–A∪B=¯A∩¯B–A∩B=¯A∪¯B3.Loissurlesdiﬀérences:–A\B=A∩¯B–Ω\A=¯A–A\Ω=∅–A\∅=A–∅\A=∅–A\A=∅–(A\B)\C=A\(B∪C)–A\(B\C)=(A\B)∪(A∩C)–A∪(B\C)=(A∪B)\(C\A)–A∩(B\C)=(A∩B)\(A∩C)Application:l'indicedepouvoirdeBanzhaf4

Lathéoriedesensemblesfournitunmoyensimpledecalculeruncertaintypedepouvoirdansuneassembléeprenantdesdécisionsàmajoritésimpleouqualiﬁée.Ils’agitdel’indicedepouvoirdeBanzhaf1.Saméthodedecalculestlasuivante:SoitNuneassembléedecardinalitén∈N∗,composéed’agents,departispolitiques,depays,etc.Unsous-ensembleS⊆Bestappelécoalition.Chaqueagentidisposed’uncertainnombredevoixousiègesxi∈R,i=1,...,n.PourtoutecoalitionS,ondéﬁnitxS=i∈SxilenombretotaldevoixdontdisposentlesagentsappartenantàlacoalitionS.Lesdécisionssontadoptéesàlamajoritéq.Parexemple,siq=xN/2,lesdécisionssontprisesàmajoritésimple.Siunecoalitiond’agentsSestenfaveurdeladécisionetquexS>q,ladécisionestadoptée.Autrement,elleestrejetée.1.VoirBanzhaf,JohnF.(1965),Weightedvotingdoesn’twork:Amathematicalanalysis,RutgersLawReview19(2):317–343.Fiche1:Lesensembles:théorienaïve|17
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UnecoalitionStellequexS>qestunecoalitiongagnante.Autrement,elleestperdante.UnagentiestcritiquepourunecoalitiongagnanteSsiS\{i}estper-dante.Autrementdit,unagentcritiquerendperdanteunecoalitionga-gnanteparsondépart.L’indicedepouvoirdeBanzhafd’unagentiestlenombretotaldepo-sitionscritiquesdecetagentsurl’ensembledescoalitionsgagnantes.En1958,leConseildelaCommunautéÉconomiqueEuropéenne(CEE)étaitcomposéde6membres:Allemagne(A),Belgique(B),France(F),Italie(I),Luxembourg(L)etPays-Bas(P).Lesgrandspays(A,FetI)disposaientde4voix,lespaysmoyens(BetP)de2voixet1seulevoixpourL,pouruntotalde17voix.Lesdécisionsétaientadoptéesavec12voixpoursur17.Letableausuivantreprendles14coalitionsgagnantessurles64coalitionspossibles,leurtotaldevoixetleursmembrescritiques.CoalitionTotalMembrescritiquesABFILP17AucunABFIP16AucunABFIL15A,F,IAFILP15A,F,IABFI14A,F,IAFIP14A,F,IAFIL13A,F,IABFLP13A,B,F,PBFILP13B,F,I,PABILP13A,B,I,PAFI12A,F,IABFP12A,B,F,PBFIP12B,F,I,PABIP12A,B,IPLesindicesdepouvoirdeBanzhafdesdiﬀérentspayssont10pourl’Alle-magne,laFranceetl’Italie,6pourlaBelgiqueetlesPays-Baset0pourleLuxembourg!LaprobabilitéqueleLuxembourgchangeledestind’unedécisionenmodiﬁantsonvoteétaitnulle.18|Fiche1:Lesensembles:théorienaïve
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1.Fondamentaux1

EXERCICES

Exercice1SoitΩ={1,2,3,4,5,6,7,8},A={1,3,4,5},B={2,3,5,7}etC={4,5,6,7}.1.ReprésentezcesensemblesdansundiagrammedeVenn.2.Enutilisantlesopérateursdel’union,del’intersection,dediﬀérenceetdelacomplémentaritédesensemblesA,B,CetΩ,déterminezlessous-ensemblessuivants:1.{5,7};2.{5};3.{4};4.{3,4,5,7};5.{8};6.{1,8}.3.Identiﬁez,àl’aidedudiagrammedessinéprécédemment,lesensemblessuivants:1.(A∩B)\C;2.(Ac∩B)∩C;3.(Ac∪Bc)∩C;4.Bc∪(A∪B∪C)c;5.(A∪Bc)∪Cc;6.(A∩Bc)∪Ωc.Exercice2LeCodedelaroutechangerégulièrementetnombred’automobilistessefontpiéger.Lorsd’unrécentcontrôle,lesagentsontarrêté300automo-bilistesetontcontrôlé:–l’usaged’uneoreilletteBluetooth;–lerespectdupassageà80km/haulieude90km/h;–laprésencedevitressur-teintéesàl’avantduvéhicule.Chaqueinfractionconstatéeestsanctionnéed’uneamendede135€.Lorsdecetteopérationdecontrôle,–105véhiculesprésentaientdesvitresteintées;–160conducteursdépassaientles80km/h;–110conducteursutilisaientuneoreillette;–50conducteursfaisaientusaged’uneoreilletteetavaientdesvitrestein-tées;–60conducteursfaisaientusaged’uneoreilletteetdépassaientlavitessede80km/h;–70véhiculesdépassaientles80km/hetavaientdesvitresteintées;–20conducteursontpayé405€d’amende.Combiendeconducteurs:–n’ontpasreçud’amende;–ontdûpayer135€;–ontdûpayer270€;–ontpayéexactement135€àcausedeleursvitresteintées?Fiche1:Lesensembles:théorienaïve|19
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Exercice3Quepeut-ondiredesensemblesAetBlorsque:1.A\B=B\A;2.(A\B)∪B=A;3.A∩B=∅;4.A∩B=B;5.B∩Ac=B.Exercice4SoitA,BetCtroisensemblesnonvidesetnondisjointsdeuxàdeux.Donnezuneformulepermettantdecalculer#(A∪B∪C)aumoyendescardinauxdestroisensemblesetdeleursintersections.Exercice5SoitA={a,b},B={1,2}etC={c,d}.DétermineztouslestripletsdeA×B×C.Exercice6Partitiond'unensembleSoita,betcdesréels,aveca>0.Sousquellesconditionspoura,betclessous-ensembles]0,a[,]−∞,b],et[c,+∞[formentunepartitiondeR?20|Fiche1:Lesensembles:théorienaïve
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1.Fondamentaux1

C

ORRIGÉS

Exercice11.DiagrammedeVenn:ΩC(6)(4)(1)(5)(3)(2)(7)(8)AB2.1.{5,7}=C∩B;2.{5}=A∩B∩C;3.{4}=(A∩C)\B;4.{3,4,5,7}=(A∩C)∪(A∩B)∪(B∩C);5.{8}=(A∪B∪C)c;6.{1,8}=(B∪C)c;3.1.(A∩B)\C={3};2.(Ac∩B)∩C={7};3.(Ac∪Bc)∩C={6};4.Bc∪(A∪B∪C)c={1,4,6,8};5.(A∪Bc)∪Cc={1,2,3,4,5,6,8};6.(A∩Bc)∪Ωc={1,4}.Exercice2Pourrépondreàlaquestion,onconstruitundiagrammedeVenn-Eulerde3ensemblesetonleremplitenpartantdel’intersectioncommuneaux3,ensuitelesintersectionsdeuxàdeux,etontermineparlespartiesd’en-semblehorsintersection.Onn’oubliepaslesconducteursn’ayantcommisFiche1:Lesensembles:théorienaïve|21
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aucuneinfraction(ilssontdansl’ensembleréférentielmaisendehorsdesensembles).–85conducteursn’ontpasreçud’amende;–75conducteursontcommisexactementuneseuleinfraction;–120conducteursontcommisexactementdeuxinfractions;–5véhiculescontrôlésneprésentaientquelesvitresteintéescommein-fraction.Exercice31.Six∈A\B,alorsx∈Aetx/∈B.MaispuisqueA\B=B\A,alorsx∈Betx/∈Aégalement.Puisquex∈Betx/∈Bdemêmequex∈Aetx/∈A,A\B=∅=B\AetdoncA=B.2.Puisque(A\B)∪B=A∪B,alorsA∪B=AsigniﬁequeB⊆A.3.Lesdeuxensemblessontdisjoints.4.OnatoujoursA∩B⊆B.OnsaiticienplusqueB⊆A∩B,doncB⊆A.5.B∩Ac=B\A=B,doncBestdisjointdeA.Exercice4Onpartdelarelationdestroiscardinaux:#(S∪T)=#S+#T−#(S∩T)etonposeS=AetT=B∪C:#(A∪(B∪C))=#A+#(B∪C)−#(A∩(B∪C))=#A+#(B∪C)−#((A∩B)∪(A∩C))=#A+#B+#C−#(B∩C)−#((A∩B)∪(A∩C))=#A+#B+#C−#(B∩C)−[#(A∩B)+#(A∩C)−#((A∩B)∩(A∩C))]=#A+#B+#C−#(B∩C)−[#(A∩B)+#(A∩C)−#(A∩B∩C)]=#A+#B+#C−#(B∩C)−#(A∩B)−#(A∩C)+#(A∩B∩C).Exercice5ChaqueélémentdeA×B×CconsisteenunélémentchoisidansA,suivid’unélémentchoisidansBetenﬁnunélémentchoisidansC,danscetordreprécis:(a,1,c),(a,1,d),(a,2,c),(a,2,d),(b,1,c),(b,1,d),(b,2,c),(b,2,d).22|Fiche1:Lesensembles:théorienaïve
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1.FondamentauxExercice6Unepartitiond’unensembleEestunefamilledepartiesnonvidesdeE,dis-jointesdeuxàdeux,etdontlaréunionestl’ensembleE.+∞0a−∞PourdéterminerunepartitiondeRàpartirdusous-ensemble]0,a[,ilsuﬃtdeprendreb=0etc=a.Ainsi,b=0<a=c.Testezvosconnaissancesenlignewww.lienmini.fr/52483-1Fiche1:Lesensembles:théorienaïve|23
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1.Fondamentaux2

C

OURS

L

ogique

et

raisonnement

[MOTS-CLÉS:proposition,prédicat,conjonction,disjonction,implication,conditionnécessaireetsufﬁsante,quantiﬁcateuruniverseletexistentiel]Lalogiqueestunchampderecherchesenmathématiquestrèsélaboréd'unpointdevueformel.Enéconomie,seulsquelquesprincipesfondamentauxetméthodesclassiquessontutilisésdemanièreàstructurerunraisonnement,unedémonstration.DÉFINITIONVocabulaire1

Unepropositionestunénoncéquiapourpropriétéd’êtresoitvrai,soitfaux,sanspossiblenuance.Unepropositionnedisposedoncqued’uneseulevaleurlogiqueincarnantsavérité(Vou1)ousafausseté(Fou0),d’oùl’appellationparfoisutiliséedelogiquebinaire.Lanégationd’unepropositionP,notée¬Pounon-P,présenteuneva-leurdevéritéopposéeàcelledeP.Onpeutrésumercesinformationsdansunetabledevérité:P¬P1001Exemple1:LapropositionP:«unseulvendeuropèresurunmarchéenmonopole»estvraie.Laproposition¬P:«plusieursvendeursopèrentsurunmarchéenmonopole»estfausse.OnappelleprédicatunepropositionPdontlavaleurlogique(1ou0)dépenddelavaleurpriseparunargument(ouvariable)xissudel’en-semblederéférenceΩ.LeprédicatsenoteP(x)etsigniﬁexpossèdelapropriétéP.Ondéterminealorsledomainedevaliditépermettantdedéﬁnirlesconditions(quellesvaleursdelavariable)souslesquelleslapropriétéestvraie.Lienaveclesensembles2

UnprédicatestunepropositionPvraiepourcertainsélémentsxd’unen-sembleΩ.Ceprédicatestlapropriétécaractéristiquedesélémentsd’unFiche2:Logiqueetraisonnement|25
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sous-ensembleAdeΩ.Ils’agitd’unepropriétéprésentéeparlesélémentsdeA,etseulementpareux.Onlenote:A={x∈Ω|P(x)}.LapropriétéP(x)estvraiesietseulementsix∈Aetestfaussesix/∈A.LanégationdeP(x),c’est-à-dire¬P(x)estlecomplémentairedeAdansΩ:¯A={x∈Ω|¬P(x)}.Connecteurslogiques3

Aunombredequatre,lesprincipauxconnecteurslogiquespermettentderelierdespropositionsélémentairespourenformerdeplusélaborées.L’ob-jectifdelalogiqueformelleestd’étudierlavaliditéderaisonnementscom-plexes.3.1ConjonctionLaconjonctiondedeuxpropositions«PetQ»,notée(P∧Q),estunepro-positionvraieuniquementsilespropositionsPetQsontvraiessimultané-ment.Entermesd’ensembles,siA={x∈Ω|P(x)}etB={x∈Ω|Q(x)},alors{x∈Ω|P(x)∧Q(x)}=A∩B.3.2DisjonctionLadisjonctiondedeuxpropositions«PouQ»,notée(P∨Q),estunepro-positionvraiesil’uneaumoinsdesdeuxpropositionsPetQestvraie.Entermesd’ensembles:{x∈Ω|P(x)∨Q(x)}=A∪B.3.3ImplicationLaproposition«PimpliqueQ»,notée(P⇒Q)estunepropositionfausseuniquementlorsquePestvraieetQestfausse,etvraiedanstouslesautrescas.Si(P⇒Q)estvraie,alorsPestuneconditionsuﬃsantepourQ;QestuneconditionnécessairepourP.Onpeutégalementdire«siPestvraie,alorsQestvraie».Laproposition(Q⇒P)estappeléeréciproquedel’implication(P⇒Q).26|Fiche2:Logiqueetraisonnement
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1.FondamentauxRemarqueEnlangagecourant,P⇒QsigniﬁequesiPestvraie,alorsQestvraie.Enlogique,laproposition(P⇒Q)esttoujoursvraielorsquePestfausse,indépendammentdelavaleurdevéritédeQ.Ainsi,laproposition(P⇒Q)etlaproposition(¬P∨Q)ontmêmevaleurdevérité.Entermesd’ensembles:{x∈Ω|P(x)⇒Q(x)}=A⊆B.3.4ÉquivalenceLaproposition«PéquivautàQ»,notée(P⇔Q),estunepropositionvraielorsquePetQontlamêmevaleurdevérité,c’est-à-diresiPetQsontsimultanémentvraiesousimultanémentfausses.Si(P⇔Q)estvraie,alorsPestuneconditionnécessaireetsuﬃsante(CNS)pourQ;QestuneCNSpourP.Onditalors«PsietseulementsiQ».Entermesd’ensembles:{x∈Ω|P(x)⇔Q(x)}=A=B.3.5TablesdevéritéOnpeutrésumerlesinformationsconcernantlesvaleursdevéritésdespropositionsdéﬁniesci-dessusdansdestablesdevérité:ConjonctionPQP∧Q111100010000DisjonctionPQP∨Q111101011000ImplicationPQP⇒Q111100011001ÉquivalencePQP⇔Q111100010001Fiche2:Logiqueetraisonnement|27






[image: background image]


Quantiﬁcateurslogiques4

4.1QuantiﬁcateuruniverselSiunepropositionP,correspondantàunepropriétécaractéristiqueP(x)del’ensembleA,estvraiequelquesoitl’élémentxdel’ensembleΩ,onécrit∀x∈Ω,P(x)quiselit:«pourtoutélémentxdeΩ,lapropositionPestvraie».Danscecas,A=Ω.Exemple2:SiYnreprésentelePIBdel’annéen∈N,laphrase∀n∈N,Yn+1≥Ynselit«quellequesoitlavaleurden,Yn+1estaumoinsaussigrandqueYn».End’autrestermes,lePIBconnaîtunecroissancechaqueannée.4.2QuantiﬁcateurexistentielSiunepropositionP,correspondantàunepropriétécaractéristiqueP(x)del’ensembleA,estvraiepouraumoinsunélémentxdel’ensembleΩ,onécrit∃x∈Ω,P(x)quiselit:«ilexisteaumoinsunélémentdeΩtelquelapropositionPestvraie».DanscecasA=∅.Exemple3:AvecYn,lePIBdel’annéen∈N,laphrase∃n∈N,Yn+1<Ynselit«ilexisteunevaleurdentellequeYn+1eststrictementinférieuràYn».End’autrestermes,lePIBarégresséaumoinsunefois.Unevarianteduquantiﬁcateurexistentielestlasuivante:∃!x∈Ω,P(x)quiselit«ilexisteunetunseulélémentdeΩtelquelapropositionPestvraie».DanscecasA={x}.4.3NégationdesquantiﬁcateursPournierunephrasequantiﬁée,onutilisel’autrequantiﬁcateur:¬(∀x∈Ω,P(x))⇔(∃x∈Ω,¬P(x))¬(∃x∈Ω,P(x))⇔(∀x∈Ω,¬P(x))28|Fiche2:Logiqueetraisonnement
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1.FondamentauxExemple4:Sifestunefonctiond’unevariableréelleetx0unnombreréel,l’assertion«festcontinueenx0»s’écrit∀ϵ>0,∃h>0,∀x∈[x0−h,x0+h]:|f(x)−f(x0)|≤ϵ.Lanégationdecetteassertion,c’est-à-direquefestdiscontinue,onécrit∃ϵ>0,∀h>0,∃x∈[x0−h,x0+h]:|f(x)−f(x0)|>ϵ.Raisonnements5

Deuxtypesderaisonnementspermettantdedémontrerunthéorèmeouunepropositiondutype(P⇒Q)sontpassésenrevue.Ledernierrai-sonnementprésenté,parrécurrence,neconcernequedespropositionsdépendantd’unentiernaturel.5.1ParcontraposéeLacontraposéede(P⇒Q)est(¬Q⇒¬P).Cesdeuxpropositionssontéquivalentes,commenouslemontrelatabledevérité:PQ(P⇒Q)(¬Q⇒¬P)1111100001110011Lorsqu’ils’avèrediﬃcilededémontrerqueP⇒Q,onpeutalorsessayerdedémontrer¬Q⇒¬P,cequiestlogiquementéquivalent.Exemple5:Soitunefonctionf:R→R.OndéﬁnitP(x):∀x∈R,f(x)f(−x)=1etQ(x):∀x∈R,f(x)=0.OnveutdémontrerP⇒Q.Or,démontrerquelafonctionfnes’annulejamaissif(x)f(−x)=1pourtoutxestdiﬃcile.Onessaieparcontraposition:Ondéﬁnit¬Q(x):∃x∗∈R,f(x∗)=0et¬P(x):∃x′∈R,f(x′)f(−x′)=1.Onmontre¬Q⇒¬P.Or,sif(x∗)=0,alorsf(x∗)f(−x∗)=0etestdoncdiﬀérentde1.Onatrouvéunxtelquef(x)f(−x)=1,cequ’ilfallaitmontrer.Parconséquent,P⇒Q.Fiche2:Logiqueetraisonnement|29
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5.2Parl'absurdeCetteméthodededémonstrationreposesurleprincipedenon-contradic-tion:siRestuneproposition,laproposition(R∧¬R)estfausse(Rnepeutpasêtrevraieetfausseàlafois).Leseulcasoù(P⇒Q)estfausseestlorsquePestvraieet¬Qestvraie.Ladémonstrationparl’absurdepourdémontrer(P⇒Q)consisteàsupposer(P∧¬Q)⇒(R∧¬R)c’est-à-direqu’ensupposantquePestvraieetQestfausse,onaboutitàunecontradiction.Lacontraposéedonne¬(R∧¬R)⇒¬(P∧¬Q)⇔P⇒Q.Exemple6:DansunréférentieldonnéΩ,l’ensemblevideestsous-ensem-bleden’importequelensembledeP(Ω).Pardéﬁnition,pourtoutA∈P(Ω),ona∅⊆A⇔(x∈∅⇒x∈A).Supposonsaucontrairequ’ilexisteunx∈Ωtelquex∈∅etx/∈A.Or,pardéﬁnitiondel’ensemblevide,pourtoutx∈Ω,x/∈∅.Onax∈∅etx/∈∅,unecontradiction.Doncl’ensemblevideestsous-ensembleden’importequelensemble.5.3ParrécurrenceSoitunepropositiondépendantd’unentiernaturelP(n),avecn∈N(ouparfoisN∗).Aﬁndedémontrerlavéracitéd’unepropositiondelaforme(∀n∈N,P(n)),onutilisesouventunedémonstrationparrécurrence,dontlaconstructionsuit3étapes:1.Initialisation:onvériﬁequelapropriétéestvraiepourunentiernaturelfaible,0parexemple:P(0)vraie?2.Hérédité:onposel’hypothèsederécurrencequiconsisteàsupposerque,pourunnaturelkquelconque,lapropositionestvraie:P(k)estvraie.OnvériﬁeensuitequeP(k)vraieimpliqueP(k+1)vraie,auquelcaslapropositionesthéréditaire.3.Conclusion:lapropositionétanthéréditaire,elleestvraiepourtoutn∈N.30|Fiche2:Logiqueetraisonnement
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1.Fondamentaux2

EXERCICES

Exercice1Quelleestlavaleurdevéritédelapropositionsuivante:«silechienestbleu,alorslecoqaboie»?Exercice2Proposezuneécrituresymboliquedelapropositionsuivante:iln’existepasdeplusgrandentiernaturel.Exercice3Traduisezenfrançaisl’expressionsuivante:∃m∈N,∀n∈N,m>n.Exercice4Quelleconclusiontirez-vousenrapprochantlesdeuxdernièresquestions?Exercice5Écrivezlanégationdelaphrasesuivante:([∀x,P(x)]∧[∃y,¬Q(y)]).Exercice6ConstruisezlatabledevéritédelapropositionRsuivante:R=([P∧(P⇒Q)]⇒Q).Exercice7DémontrezparrécurrenceQ(n):1+3+5+...+(2n−1)=n2,∀n∈N∗.Fiche2:Logiqueetraisonnement|31
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2

C

ORRIGÉS

Exercice1Vraie,carils’agitd’uneimplicationimpliquantuneconditionnécessairefausse(onn’aencorejamaisrencontrédechienbleupourlemoment).Exercice2L’écriturelapluspratiqueenvuederépondreauxdeuxquestionssuivantesest∀n∈N,∃m∈N,m>n.Quelquesoitlenaturelnchoisi,ilenexisteun(m)quiluiestsupérieur.Exercice3Ilexisteunnaturelmquiestsupérieuràn’importequelnatureln.Cettepro-positionestbienentendufausse.Exercice4Lesdeuxphrasesprécédentessontidentiquesàl’ordredesquantiﬁcateursprès.Changerl’ordred’apparitiondesquantiﬁcateursmodiﬁelesensdelaphrase.Lorsqu’unephrasen’estcomposéequedumêmequantiﬁcateur(existentielouuniversel),l’ordren’aalorsaucuneimportance.Exercice5([∃x,¬P(x)]∨[∀y,Q(y)]).Exercice6Letableaudisposerade5colonnes:PQP⇒QP∧(P⇒Q)R11111100010110100101LapropositionRestunetautologie(propositiontoujoursvalidequellesquesoientlesvaleursdevéritédespropositionsquilacomposent)connuesouslenomdemoduspollens.32|Fiche2:Logiqueetraisonnement
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1.FondamentauxExercice7–Initialisation:Vériﬁonsquelapropositionestvraiepourn=1etn=2:1k=1(2k−1)=1et12=12k=1(2k−1)=1+3=4et22=4Lapropositionestinitialisée.–Hérédité:Supposonsquelapropriétésoitvériﬁéeaurangk.Parhypo-thèsederécurrence,ona:kj=1(2j−1)=k2.Onveutalorsdémontrerquelapropositionestvériﬁéepourk+1.Oncherchek+1j=1(2j−1)=kj=1(2j−1)+2(k+1)−1.Parl’hypothèsederécurrence,onsaitquekj=1(2j−1)+2(k+1)−1=k2+2(k+1)−1=k2+2k+1=(k+1)2.Lapropositionestvériﬁéepourk+1.–Conclusion,lapropositionestvériﬁée∀n∈N∗.Testezvosconnaissancesenlignewww.lienmini.fr/52483-2Fiche2:Logiqueetraisonnement|33
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1.Fondamentaux3
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fonctions

[MOTS-CLÉS:ordre,préordre,équivalence,minorant,majorant,borneinférieure,bornesupérieure,injection,surjection,bijection]Lesrelationsconfèrentunestructureparmilesélémentsconstitutifsd'unensembleetsontàlabasedelathéoriemicroéconomiqueduconsommateur.Lesapplicationsetfonctionssontcertainementlesoutilslesplusemployésenmathématiques–etenéconomie.DÉFINITIONRelations1

1.1PropriétésSoitAetBdeuxensembles.UnerelationRestunepropriétévériﬁéeparcertainscouples(x,y)deA×B.Quandx∈Aestenrelationavecy∈B,onécritxRy.L’ensembledescouplesquisatisfontcetterelationestappelégraphedelarelation:GR={(x,y)∈A×B|xRy}.LegrapheGRestlapartiedeA×BquicaractériseentièrementlarelationR.QuandA=B,onparled’unerelationdansA.Ilexistediﬀérentstypesderelationsquisecaractérisentparlespropriétésqu’ellesprésentent.Ondénombre4propriétésprincipales.UnerelationRdansunensembleA,est1.réﬂexivesi:∀x∈A,xRx;2.antisymétriquesi:∀x,y∈A,xRyetyRx⇒x=y;3.symétriquesi:∀x,y∈A,xRy⇒yRx;4.transitivesi∀x,y,z∈A,xRyetyRz⇒xRz.Ils’agitdespropriétésderéﬂexivité,antisymétrie,symétrieettransitivité.RemarqueL'antisymétrien'estpaslecontrairedelasymétrie.Pourledireautrement,lanon-symétrien'estpassynonymed'antisymétrie.Unerelationnonsymétriquepeutégalementêtrenonantisymétrique.Larelationd'égalitéestunerelationàlafoissymétriqueetantisymétrique(c'estmêmelaseulerelationdanscecas).Fiche3:Relations,applicationsetfonctions|35
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